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Section : General Intelligence and Reasoning
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Question ID : 26433079130
Status : Answered
Chosen Option : 1

Q.2

Ans

4 fou U Y ¥ 55 FYH 3R IS 91¢ 39 HYUHI W UTRa o fHewpd few v §1 faw
T HYA B TE M, WA g ITH I ma@ﬁﬁme‘nmﬁﬁr&ﬁéﬁaﬁ?ﬁﬂ
Fruifea =¥ & 19 @ freed, T 7T ST &1 aifdhs w0 T SrERu Hd 81

DY

LW A MEI

I m‘rém CER K]

I WM Agl
I.$3 B, MEI
N.$3 A, BEI

2< 1. 13 1 Fr SrfeRur R §
2 2. 1T 1 G Sy SFeRUT vl §
X 3. Faq fspY || STHR Rl 7
o 4. Pad FIpY | STHROT AT §

Question ID : 264330104938
Status : Answered
Chosen Option : 4
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Question ID : 26433078865
Status : Answered
Chosen Option : 4
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Question ID : 26433080794
Status : Answered
Chosen Option : 2
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Question ID : 26433069163

Status : Answered

Chosen Option : 2
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Ans X 1.(58,16,21)
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o 3.(78, 54, 44)
X 4.(23,8,10)

Question ID : 26433074776

Chosen

Status : Not Answered
Option : ==
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Question ID : 26433078978
Status : Answered
Chosen Option : 4
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Question ID : 26433056815
Status : Answered
Chosen Option : 3
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Ans X 1.1053
o 2. 853
X 3.753
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Question ID : 26433067596
Status : Answered
Chosen Option : 2
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Ans X 1.DEIGLV
2. EDIGLU
« 3. EDIFLU
< 4. EELBLU

Question ID : 26433065622
Status : Answered
Chosen Option : 3
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Question ID : 26433068472
Status : Answered
Chosen Option : 4
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Question ID : 26433068237
Status : Answered
Chosen Option : 3
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Question ID : 26433074641
Status : Answered
Chosen Option : 1
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Question ID : 264330105144
Status : Answered
Chosen Option : 3
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T §1 BT T AGR-TAo 3 TYE A Faiftra T8 22
Ans X 1.EQGP
X 2. URWQ
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Question ID : 26433080459
Status : Answered
Chosen Option : 3
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X 1.1,3,4,52
X 2.1,3,54,2
X 3.3,1,54,2
& 4.3,1,452

Question ID : 26433079441
Status : Answered
Chosen Option : 4
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Ans
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Question ID : 26433096018
Status : Answered
Chosen Option : 4
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Question ID : 264330105079
Status : Answered
Chosen Option : 2
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(21, 225, 9)
(12, 49, 2)

X 1.(15, 54, 3)
X 2.(11,18,7)
X 3.(13,81,6)
& 4. (14,64, 2)

Question ID : 26433069229
Status : Answered
Chosen Option : 4
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Question ID : 26433067803
Status : Answered
Chosen Option : 2
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CBOM, FCQN, ?, LEUP, OFWQ

Ans X 1.HDSO
X 2.1DSP
« 3.1DSO
X 4.1DTO

Question ID : 26433059857
Status : Answered
Chosen Option : 3

Q.22 oy T gHfiERu & H1H-9 31 gl & WM WRER ged 37 J GHHR0r Wi 8 sem?

81+3+9*5-12=60
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Question ID : 26433067844
Status : Answered
Chosen Option : 2
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Ans ' 1.PxQ-R
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K 3P+R-Q
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Question ID : 264330104960
Status : Answered
Chosen Option : 1
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Ans X 1.ZAM
& 2. ZKX
X 3.ZXY
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Question ID : 264330104794
Status : Answered
Chosen Option : 2
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Ans X 1. T
& 2.9
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Question ID : 26433065965
Status : Answered
Chosen Option : 2

Section : General Awareness

Q1 4@ URdta g ot Hida &1 ugar a7 1930 & o maifora famar war umi
Ans 1 AR

X 2. BR

X 3. feah

X4

Question ID : 26433085284
Status : Not Answered
Chosen Option : --

Q2 Fafafe ¥ frae e yRdg Ty & Aifte wdo & wu 8 78 far man 82
Ans 1. TSI BT IHH B

X 2. Irdoie |l Bt Rem BT

X 3. SR BT &M BT
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Question ID : 26433086786
Status : Answered
Chosen Option : 1
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Ans X 1.91Gd 3R T
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3. 18 3R =maa
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Question ID : 26433065457
Status : Answered
Chosen Option : 3

Q.4 STHWR Tad WS- &t Wt wrs #Y few www ger il & wnfire fean mar @2
Ans X 1.M3

X< 2.Mm2
3. M4
X 4. M1

Question ID : 264330105382
Status : Not Answered
Chosen Option : --
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gegaeht R fAer?
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Question ID : 26433054479
Status : Answered
Chosen Option : 2
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Ans X 1@
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Question ID : 26433064283
Status : Not Answered
Chosen Option : --

Q.7 et oft SeRAA faeraa & pH 19 grmI
Ans X 1.14

X 20
X 3.8
& 47

Question ID : 264330105480
Status : Answered
Chosen Option : 4
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Ans X 1. 3fail-u-feri
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Question ID : 26433070822
Status : Answered
Chosen Option : 2

Q.9 YR & Ugdlt grE-fts Ya a1s o1 fmior (wRast 2022 9% UIe TSR & gAR)
e = fbar ST YR 872

Ans o 1. HE-3EHIETG
X 2. fewit-ie
X 3. 4esqn
X 4 Reef-geg

Question ID : 26433092872
Status : Not Answered
Chosen Option : --

Q.10 T7aT oR # {5 yobR B it &t vz 1t 82
Ans X 13@'@%@

X 2. e gt
o 3. il g
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Question ID : 264330105629
Status : Answered
Chosen Option : 4

Q.11 3[R 2022 ®, STRIES & GEIHA 7 {54 fpdhex oY 79 F1 §is Taws: i fFare
Ans X 1. gIfée uisam

X 2. fawre pred

3. BUH U
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Question ID : 264330105344
Status : Answered
Chosen Option : 3

Q.12 fmfafea & 3 frd smiferar & A d ST ST 82
Ans 1. NO,

< 2. PH;

< 3. NO;

« 4. NH;3

Question ID : 26433066461
Status : Answered
Chosen Option : 4




Q13 R AR T § i nfafafia) # agara & ary gt 21
Ans X 1. IRTATEHD

2.5

X 3. 3ifRrs
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Question ID : 264330105522
Status : Answered
Chosen Option : 1

Q.14 FHIF-97 RAFTTH PR B F13 1} “SmufeHe I yh1id $31 F 7rwa § THER 0
P HUf ST B P AR a1 872

Ans X 1. Tf$aruae, 1883
2. TR U Uae, 1878
X 3.3e9¢ UaT, 1883
X 4. 9UMER YA SHfATH, 1855

Question ID : 264330105564
Status : Answered
Chosen Option : 2

Q.15 RIE Afrar fora uRda el e Ah & wfaures &2
Ans X 1. Pfags!

X 2. WRaeH

X 3. FUS

4. T

Question ID : 26433054325
Status : Not Answered
Chosen Option : --

Q.16 MW AT & IaRfeTval gRT gféor 3R 3w # Fafafed § 9 fea ddafta gt
) I ¥y P e 71 foram a2

Ans 1. TS 3R Uead
X 2. a@TeH IR Fade
X 3.Uc@d R R
X 4.7 IR R

Question ID : 264330105418
Status : Answered
Chosen Option : 3

Q.17 2025 TF GAYH AIERAT R TBIAHAT AR F3 & g aftrarg ReR grT gow
TIYH (Ennum Ezhuthum) SIS REFE Riggaiomn_ omg arf & fyenfiay
F AT AT B TH HA &b R = F 7S 71

Ans X 1.63R10F AP
X 2103 15FdaH
X3.53HaF
& 4.8 FAD

Question ID : 264330105349
Status : Answered
Chosen Option : 1




Q.18 gl # & -0 7t vz ardt A Sl Tedt 22
Ans X 1.9

o 2.t
X 3.

XA

Question ID : 26433066517
Status : Answered
Chosen Option : 2

Q.19 frgfafad # & fbg aminT A Reiivy #t f i <rsuura o Frafea Fraer @+ @mfRe
Ans X 1. ot 3l 3MNT

2. TRBINAT AT
X 3. ASHAR 3T
X 4. HSd AN

Question ID : 26433064843
Status : Answered
Chosen Option : 2

Q.20 wfgarsit & 1-20 frde fay 7 2020 F1 A o & & forw 3=r A v wam y1?
Ans X' 1. YRd

X 2. g13cs fhen

o 3. 3iteferan

X 4. qEEN

Question ID : 26433070833
Status : Answered
Chosen Option : 3

Q.21 g ¥ fRrg YA A GRS 3BT B
Ans X' 1. 3[TdH

X 2.3
3. DIRBT
X 4. 3d%

Question ID : 264330105449
Status : Answered
Chosen Option : 3

Q.22 W.(Buckms%tm% q;?;ﬁm g gaﬂ%%z fawar MareR sarfify

Ans X 1.40
o 2.60
K5 3.70
X 4.50

Question ID : 26433064069
Status : Answered
Chosen Option : 2




Q.23 3=Me 7 3T & B ATHIG TS B 76 B & g 3! forgaa famam
Ans X 1. =grTefEr

X 2. guredt

3. YT TR

X 4. 3HTT

Question ID : 264330105175
Status : Answered
Chosen Option : 3

Q.24 T MM TdA pHHH AEd B 2005 § FrufifEd § | S1H-91 RESR T M2
Ans X 1. U fqumo

X 2. Pifciarg =

X 3. TR Yu U

o 4. T

Question ID : 26433090710
Status : Not Answered
Chosen Option : --

Q.25 TRad 2022 A 5 Isards RIE U Bt gRRT 3 Iyfi-wgeiR His-snutid visss
Rivew @i= far 82

Ans X' 1. HERIY
X 2. 7ar
X 3.0 Ry
4. et

Question ID : 264330105209
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude

Q1 TP YT F S 10T R & 3R W B0 F1 717 78° | | Tl ST BT $1 AT AT 872
Ans X 1.49°

X 2.50°

X 3.52°

& 4.51°

Question ID : 26433066370
Status : Answered
Chosen Option : 4

Q.2 QY Iuflearl & 99 IS T gHTE &, o Adararsi § F 15% 3 Ad g1 STaT 3R 100 9
3G §Y Y| TG St arel IEfEaR A $a Tal BT 45% YT HIb 3R 400 Tl & R
[ Sfidn | Hagransil # Ho HEI Jd il

Ans 7 1. 6,000
X 2. 3,500
X 3. 10,000
X 4. 3,600

Question ID : 26433075909
Status : Not Answered
Chosen Option : --




Q.3 TH APPSR U (31) AR BT 41 § 1 3T YR B BT 7 cm 3R Fa1$ 15 cm 81 T
e BT YR Ufa 799 TR 15 g &, @ U BT HR J1d B

Ans & 1.11.55kg
X 2.14.55kg
X 3.1355kg
X 4.12.55kg

Question ID : 26433063906
Status : Answered
Chosen Option : 1

Q
1

.4
uﬁx2+xi2=66%,a’rx—; T AT 2l

Ans X 1.9

X 26

X 3.10
4.8

Question ID : 26433066404
Status : Answered
Chosen Option : 4

Q5 ey o W o RS 7§ ¥ chow Rffes ot F mee o 30T W AN ' =
AT §| G F FA T = 1620 FT

g e F e A AR Pl weT # s &I

T T T T ghoe [ et § T sRe s o
I fEr F w w pE E
P

T % 13%

T S ga H Tsa P R aer 9 ua @ o 82
Ans .y 1.2106 %S

X 2. 211208

X 3. 211 B

X 4.205 RIS

Question ID : 26433079900
Status : Answered
Chosen Option : 1




as ¥l SnBtoasd =g %,(_‘ﬁsin“ﬁ— cos*@ &AM T gHT

sin 8—cos0

Ans B

X< 1.
12

1z
V2 —
13

X3 =
13

xa =
12

Question ID : 26433061105
Status : Not Answered
Chosen Option : --

@7 3R cos(A—B) = &, 3T cos(a+B) = 0 ¥, 7@ A 3R B ueeHE =g
FT § T A= BE, ar A 3T B &% AT FT 72

Ans .y 1.60° 3R 30°
X 2.70° 3R 20°
2 3.50° 3R 40°

X 4.80° 3R 10°

Question ID : 26433083015
Status : Answered
Chosen Option : 1

Q8 2w 7T US-TTE & HeTAA B HI A T 7T g & 3aX &
us-ae & UF aRar ganr fafded #el W Y A = @ G maw gl

o 1R # o e o7 o Wi

a THBM(15%)
w  STETH5%)
w HUSI%)

AfTET(45%)
TART(10%
fafas10o:)

TRIaT &1 g2l el 3eads ganl ad & $a A SIR= AT ST AT I
Ans X 1.45°
X 2.67°

X 3.60°
o 4. 54°

Question ID : 26433076114
Status : Answered
Chosen Option : 4




0 gfrtana- g, AT sinA FTT ShIT=TT|

Ans oy 3
413
‘,z_i
Vi3

X3 2

3

x4 X

3

Question ID : 26433057164
Status : Answered
Chosen Option : 2

Q.10 20 Y TH FTH &t 220 f & T FX THd &, AP 90 7 & ¥ 1 W 20 3R oW
fPrafera fre wima ¥ 1 ol Y W g9 & 3R fram faq e

Ans X 1.55
X 2.50
< 3.60
& 4.65

Question ID : 26433073094
Status : Answered
Chosen Option : 4

Q.11 JifaT A 12% P A W Rs.46,068 P PIAT UR Th 3MTE - I 911 18% BT ATH YT
P & e 39 39 59 P W S9-1 8 e

Ans 7 1.Rs.61,773
< 2.Rs.52,350
< 3.Rs.58,350
#< 4.Rs.65,773

Question ID : 26433063689
Status : Answered
Chosen Option : 1

Q.12 YT ABC 3R DEF 99U €1 Tfd AB = 92 cm, BC = 48 cm, AC = 120 cm &, 3R DEF 1
T BIET YT B GaTS 200 cm &, a1 1Y DEF Y W dall Yoil 1 da1g 1 B
Ans 7 1.500cm

/< 2.350 cm
75 3.225¢cm
25 4.400 cm

Question ID : 26433075962
Status : Answered
Chosen Option : 1




Q.13 What is the present value of Rs.10,000 received in 2 years, if the interest rate is 12%
per year discounted semi-annually?

Ans X 1. Rs.7,900.94
X 2. Rs.7,920.90
¢ 3 Rs.7,920.94
X 4. Rs.7,020.94

Question ID : 26433092173
Status : Not Answered
Chosen Option : --

Q.14 1
+_:

Ans X 1.212
X 2.410
X 3.192

2 i
4 ga K +F BT A FT8?

o 4. 194

Question ID : 264330105943
Status : Answered
Chosen Option : 4

Q.15 e =T 123456789 Bt 9 gRT FyUTRTA fran ST 2, @ Auhar w1 ghm?
Ans X 1.1

& 2.0

X33

K 4.2

Question ID : 26433062622
Status : Answered
Chosen Option : 2

Q.16 TP TR R F 40 km/h BT I A 3 °H, TSP W 30 km/h B I | 2 4 3R T 80
km/h @ I8 ¥ 5 42 UTAT BT 8| SHSP GRT 5 3 d A1 I U1 Ft 152

Ans 7 1. 58 km/h
/< 2.56 km/h
< 3. 62km/h
< 4. 60 km/h

Question ID : 26433063920
Status : Answered
Chosen Option : 1

Q.17 144, 360 3R 450 HT AYTH FHATIGN (LCM) FTd BIfoTg|
Ans X 1.2400

& 2. 3600
< 3.4800
X 4.7200

Question ID : 26433075964
Status : Answered
Chosen Option : 2




Q.18 wmaﬁgﬂﬂﬂﬁ'ﬂ‘z.aﬁjﬁ.%l T 9 91eR Foral o1 9o et 9ad 93 a1
ST FT 82

Ans 1 1150913
X 2. 115593
X 311593
X 4. 115913

Question ID : 264330105882
Status : Not Answered
Chosen Option : --

Q19 7fg p + q = 6 AT pg = 4 &, A 3(p? + q°) PTHM FT &7
Ans X 1.144
&< 2.512
< 3.288
o 4.432

Question ID : 264330105918
Status : Answered
Chosen Option : 4

Q.20 wwwd@%ammwusﬁiasaﬁmgeam%sﬁvWW%sﬁu%
P AN 3 Fe a1 81 TFS UM BT 3ifpd ged 21,285 §, a1 301 fawpa ge4 (2 §) |1 872

Ans 7 1.1058.4
< 2.1000.4
/< 3.958.4
< 4.1100

Question ID : 26433075551
Status : Answered
Chosen Option : 3

Q.21 i 3R 4T HHIM: 10 km/h 3N 25 km/h FT I70 A &g A § B TP 105 km P g3t 97 Fa
&1 31 yed fig B W ugad @ ok q¥d died! € ok #i A fiig c R et 81 fRig A A fig
C % @ gil Ia HIfE|

Ans X 1.45km

75 2.62km
/< 3.35km
& 4.60 km

Question ID : 26433083050
Status : Answered
Chosen Option : 4

Q.22 9f3 36 : 81 :: X : 63 §, Al X BT A FT 8?2
Ans X 1.30

X 2.29

 3.28

X 4.31

Question ID : 26433066362
Status : Answered
Chosen Option : 3




Q.23 A G 7 AT 6 HUFTR A T A I ARPIRG) P H=n B g B

Foar | e

400
500
600
350
450
800
Tt Fufrat # S A ara TR $t For e =3

Ans X 1.2600

X 2.2900

X 3.3400

sl Inl -1 le: Al w

 4.3100

Question ID : 264330105734
Status : Answered
Chosen Option : 4

Q.24 3 cm 3T 9T TP 9 &, 2 cm 3R 3 cm TATS P & SHATE Th ART & TP &1 3R R &
I siarait & i daad gt FaT 82

Ans s
. #2-33
2

cm

. 443-32
2

_ afz2-343

4

_ az2-343

3

cm

CIm

Question ID : 26433066252
Status : Answered
Chosen Option : 1




Q.25

Ans

T % #faT S0l 3K arrehoT @ arer Sdanfiz & e

=T A B C
oEr T gEar | 1.50 1.40 1.75
(e H)

=T 3?11'05‘:3@?1’1'0%

A 6:5

B 34

C 8:2
U= B & =0T orEr T wEar haar 82
X 1,049
X 20399
« 3.0.6 WG
X 40799

Question ID : 26433080386

Status : Answered

Chosen Option : 3

Section : English Comprehension

Q.1

Ans

Select the most appropriate meaning of the given idiom.

Fair-weather friends
< 1. A person who is friends with you every day
< 2. A person who is friends with you during the night
2 3. A person who is friends with you in difficult times

«” 4. A person whose friendship cannot be relied onin times

Question ID : 26433070684

Status : Answered

Chosen Option : 3

Q.2 Select the sentence that uses the idiom correctly.

Ans

25 1. Walking bare feet on grass gave him cold feet.
«” 2. Ranita was'not selected for the job as she got cold feet.
5 3. After too much cycling Arun got cold feet.

/< 4. One can swim easily with cold feet.

Question ID : 26433060376

Status : Not Answered

Chosen Option : --




Q.3 Select the option that expresses the given sentence in passive voice.

The child broke many toys in the shop. He even threw the paintings.

Ans X 1. Many toys in the shop were broken by the child. Even the paintings have been thrown
by him.
«” 2. Many toys in the shop were broken by the child. Even the paintings were thrown by
him.
5 3. Many toys in the shop have been broken by the child. Even the paintings were thrown
by him.
< 4. Many toys in the shop were broken by the child. He has even thrown the paintings.

Question ID : 26433088548
Status : Answered
Chosen Option : 2

Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Children listens to people / speaking around them / for a long time before / they begin
to speak.

Ans X 1. speaking around them
/< 2. for a long time before
«” 3. Children listens to people
/< 4. they begin to speak

Question ID : 26433092271
Status : Answered
Chosen Option : 3

Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

Something which is worth believing
Ans X 1.Expedient
” 2. Credible
/< 3. Spurious
< 4. Impending

Question ID : 26433071765
Status : Answered
Chosen Option : 2

Q.6 Select the INCORRECTLY spelt word.
Ans X 1. Guise

o 2. Laproscopy.
75 3. Intermittent
X 4. Generate

Question ID : 26433063148
Status : Answered
Chosen Option : 3




Q.7 Select the most appropriate collocating word to fill in the blank.

The girl has chances winning the match.
Ans X 1. hefty
«” 2. high
#< 3. bountiful
X 4. light

Question ID : 26433070452
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate option to fill in the blank.

The crowing witch rel da cackle as she turned the boy into a beast.
Ans X 1.low
X 2. gentle
«” 3. loud
75 4. soft

Question ID : 26433059586
Status : Not Answered
Chosen Option : --

Q.9 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

A book market / was been operated by some readers / in the street when / they
reached there.

Ans & 1. was been operated by some readers
/< 2. they reached there.
2< 3.in the street when

< 4. A book market

Question ID : 26433091952
Status : Answered
Chosen Option : 1

Q.10 Select the option that expresses the given sentence in passive voice.

somebody is following us.
Ans 1. We're beingfollowed by somebody.

5 2. Somebody had been following us.
< 3. Somebody:is following us.
5 4. We have been following by somebody.

Question ID : 26433089116
Status : Answered
Chosen Option : 1




QN

Rearrange the parts of the sentence in correct order.
The issue of

P. compulsory vaccination is difficult

Q. multiple interests all protected by human

R. because the governments need to consider

S. rights law and strike a fair balance between them

Ans X 1.PQRS

& 2.RSPQ

< 3.QSPR

« 4. PRQS

Question ID : 264330104677
Status : Answered
Chosen Option : 4

Q.12 The question below consists of a set of labeled sentences. Out of the four options

Ans

given, select the most logical order of the sentences to form a coherent paragraph.
P. The division was usually based on temperature, which allows for different
vegetation growth.

Q. Képpen’s map used different colors and shades to represent the different climate
zones of the world.

R. Wiladimir Képpen developed a climate classification system at the end of the 19th
century.

S. The system divides the world into five climate zones.

X 1.SPQR
X 2.QPSR
« 3.RSPQ
X 4.RPQS

Question ID : 264330104722
Status : Answered
Chosen Option : 3

Q.13 Select the correct direct form of the given sentence.

Ans

The doctor said that they had performed their bit.
/< 1. The doctor said, “We performed our bit."

25 2. The doctor said, “We are performing our bit."
/< 3. The doctor says, “We had performed our bit."
«” 4. The doctor said, “We have performed our bit."

Question ID : 264330104633
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate synonym of the given word.

Ans

Demolish
/< 1. Fabricate

«” 2. Ruin
/< 3. Shape
/< 4. Create

Question ID : 26433071873
Status : Answered
Chosen Option : 2




Q.15 Select the most appropriate synonym of the underlined word in the given sentence.
Try to be frugal with your hard-earned money.
Ans X 1. Negligent
«” 2. Economical
< 3. Honest
< 4. Imprudent

Question ID : 26433071962
Status : Answered
Chosen Option : 3

Q.16 Select the correct spelling of the underlined word from the following options.

Handover that peace of paper to me so that | can evaluate the authenticity of his
amorous claims.

Ans 7 1. piece
X 2. pieces
< 3. peices
X 4. peice

Question ID : 26433061045
Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate synonym of the underlined word.

No one was prepared for the environmental calamity that hit the town in the middle of
the night.

Ans X 1. Degradation
/< 2. Stress
/< 3. Damage
«” 4. Catastrophe

Question ID : 26433071778
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate ANTONYM of the given word.
Abundant
Ans X 1. Aplenty
75 2. Plentiful
& 3. Minimal
75 4. Fertile

Question ID : 26433060895
Status : Answered
Chosen Option : 4




Q.19

Ans

Rearrange the parts of the sentence in correct order.
We looked for

P. strong relationships at locations in the

Q. genome that are not well studied in

R. apple and looked for which compounds we

S. could identify and which had nutritional value

 1.PQRS
X 2.QRPS
X 3.SPQR
X 4.QSRP

Question ID : 264330104664
Status : Answered
Chosen Option : 4

Q.20

Ans

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A.lt is considered the biggest carnival event in the world.

B.Rio carnival is celebrated every year before lent.

C.A typical Rio carnival is filled with floats, revelers and adornments from numerous
Samba schools in Rio.

D.Every school is specially ordered to follow their parade entries.

< 1. ABDC
« 2. BACD
X< 3.BCDA
X 4.ACDB

Question ID : 26433072384
Status : Answered
Chosen Option : 3

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Swaminathan had a table on which all his things, his coat, cap, slate, ink-bottle, and books,

were thrown in a confused (1) . He sat on his stool and shut his eyes to (2)

what work he had for the day: first of course there was Arithmetic — those five (3) in
Profit and Loss; then there was English — he had to copy down a page from his English
lesson and write dictionary meanings of (4) words; and then there was Geography.
And only two hours before him to do all this heap of work and get (5) for school.

SubQuestion No : 21
Select the most appropriate option to fill in blank number 1.

25 1.deal
25 2. order

«” 3. heap
5 4.load

Question ID : 26433081345
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Swaminathan had a table on which all his things, his coat, cap, slate, ink-bottle, and books,

were thrown in a confused (1) . He sat on his stool and shut his eyes to (2)

what work he had for the day: first of course there was Arithmetic — those five (3) in
Profit and Loss; then there was English — he had to copy down a page from his English
lesson and write dictionary meanings of (4) words; and then there was Geography.
And only two hours before him to do all this heap of work and get (5) for school.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans ¢ 1. recollect

< 2. imagine
< 3. estimate

< 4. guess

Question ID : 26433081346
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Swaminathan had a table on which all his things, his coat, cap, slate, ink-bottle, and books,

were thrown in a confused (1) . He sat on his stool and shut his eyes to (2)

what work he had for the day: first of course there was Arithmetic — those five (3) in
Profit and Loss; then there was English — he had to copy down a page from his English
lesson and write dictionary meanings of (4) words; and then there was Geography.
And only two hours before him to do all this heap of work and get (5) for school.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1.disputes

X 2. debates
/< 3. conditions

o 4. puzzles

Question ID : 26433081347
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Swaminathan had a table on which all his things, his coat, cap, slate, ink-bottle, and books,

were thrown in a confused (1) . He sat on his stool and shut his eyes to (2)

what work he had for the day: first of course there was Arithmetic — those five (3) in
Profit and Loss; then there was English — he had to copy down a page from his English
lesson and write dictionary meanings of (4) words; and then there was Geography.
And only two hours before him to do all this heap of work and get (5) for school.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1.visible

& 2. difficult
< 3. rigid
25 4. awkward

Question ID : 26433081348
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Swaminathan had a table on which all his things, his coat, cap, slate, ink-bottle, and books,

were thrown in a confused (1) . He sat on his stool and shut his eyes to (2)

what work he had for the day: first of course there was Arithmetic — those five (3) in
Profit and Loss; then there was English — he had to copy down a page from his English
lesson and write dictionary meanings of (4) words; and then there was Geography.
And only two hours before him to do all this heap of work and get (5) for school.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans o 1.ready

X 2. alert
25 3. fixed
X 4. fit

Question ID : 26433081349
Status : Answered
Chosen Option : 1
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